Answers – Chapter 6

Answer – Chapter 6 HKAS 10 & 37
(I)
Multiple Choice Questions

	1.
	A
	


	2.
	C
	Item 1 is not correct – if it is probable and the amount can be estimated reliably, then it must be provided for.


	3.
	B
	


	4.
	C
	Item 1 – Contingent liability that is possible, therefore disclose.

Item 2 – Contingent liability but remote, therefore no disclosure.

Item 3 – Non-adjusting post balance event, material therefore disclose.


	5.
	B
	


	6.
	D
	


	7.
	C
	


	8.
	D
	


	9.
	D
	


	10.
	D
	


(II)
Examination Style Questions

1.
(a)

The financial statements of Accurate Ltd provide evidence for an impairment of the investment in Accurate Ltd. As at the balance sheet date of Precision Ltd, the investments had suffered an impairment and so according to HKAS 10 this would be treated as an adjusting event. The investment would therefore be included in Precision’s balance sheet at $500,000 and the impairment loss of $500,000 recorded in the profit and loss account.

(b)

Since the inventories actually existed at the balance sheet date, this would normally be treated as a non-adjusting event. Information would be provided in a note to the financial statements, but inventories would be included in the balance sheet at $500,000. The note would state the nature of the event and an estimate of the financial effect (including any tax implications). Failure to provide this information would affect the ability of users of financial statements to reach a proper understanding and evaluation of the financial position.

(c)

Post balance sheet information indicates that the provision previously recognized at the balance sheet date is no longer required. The event is thus an adjusting event. The balance sheet and profit and loss account would be adjusted accordingly.

(d)

The approval of company’s design does not provide evidence of conditions existed at the balance sheet date and is therefore a non-adjusting event.

2.
These post balance sheet events may be adjusting or non-adjusting. If adjusting then the appropriate adjustments must be made, if non-adjusting then appropriate disclosure is necessary.

(a)

Non-adjusting. Disclosure by way of note.

(b)

Adjusting. The value of the debt at the balance sheet date should reflect all information that is available before the financial statements are authorized for issue. The $450,000 should be reduced by 70% to 30% of its value, $135,000, and the loss included in the financial statements. It may also be necessary to disclose the further loss that will arise on sales made in the current year.

(c)

Non-adjusting. The fire occurred after the balance sheet date. The apparent loss of $100,000 if considered significant should be disclosed by way of note.

(d)

Non-adjusting. The decision to close had not been made before the balance sheet date. Disclose in a note.

(e)

Non-adjusting. Proposed dividends declared after the balance sheet date are not included as a liability because the enterprise does not have a present obligation at the balance sheet date in respect of that item. HKAS 10 requires an enterprise to disclose the amounts of dividends that were proposed or declared after the balance sheet date but before the financial statements were authorized for issue as a separate component of equity.

3.
(a)(i)

Provisions are recognized as liabilities (assuming that a reliable estimate can be made) because they are present obligations and it is probable that an outflow of resources embodying the economic benefits will be required to settle the obligations.

Contingent liabilities are not recognized as liabilities because they are either:

(1)
a possible obligation that arise from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the enterprise; or

(2)
a present obligation that arises from paset events but is not recognized because it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation; or the amount of the obligation cannot be measured with sufficient reliability.

(a)(ii)

Events after the balance sheet date are those events, both favourable and unfavourable, that occur between the balance sheet date and the date when the financial statements are authorized for issue. Two types of events can be identified:

(1)
those that provide evidence of conditions that existed at the balance sheet date (adjusting events); and

(2)
those that are indicative of conditions that arose after the balance sheet date (non-adjusting events).

Some examples of adjusting events are:

(1)
the discovery of fraud or errors that show that the financial statements were incorrect;

(2)
the sale of inventories after the balance sheet date that may give evidence as to their net realisable value which is lower than cost at the balance sheet date.

Examples of non-adjusting events are:

(1)
a major business combination or disposing of a major subsidiary after the balance sheet date;

(2)
major purchases and disposals of assets, or expropriation of major assets by the government after the balance sheet date.

(b)

(1)
The asset was sold after the balance sheet date and gave rise to a loss of $107,000. The loss arose given there was under-depreciation of the asset in all periods up to the date of sale. HKAS 16 requires regular review of asset lives and the adequacy of depreciation provided in order that the cost or value of the asset is fairly allocated to each period that benefits from the use of the asset.

The following is relevant in determining whether or not an adjustment should be made to the asset’s value at the balance sheet date:

(i)
the loss is not material in the context of the company’s profit,

(ii)
HKAS 10 cites events after the balance sheet date of sales of fixed assets as normally being non-adjusting events.

Therefore, no adjustment is required to the asset’s value at the balance sheet date and no disclosure is necessary.

(2)
The compensation of $180,000 is certain. This could be accrued and set off against the cost of building repairs of $400,000 incurred. The possible contingent asset of $40,000 should not be recognized since this may result in the recognition of income that may never be realized. Furthermore, as an inflow of economic benefit does not appear probable, the contingent asset should not appear probable, the contingent asset should not be disclosed.

4.
(a)(i)

“Events after the balance sheet date” are those events, both favourable and unfavourable, that occur between the balance sheet date and the date when the financial statements are authorised for issue. Two types of events can be identified:
(a)
those that provide evidence of conditions that existed at the balance sheet date (adjusting events after the balance sheet date);
(b)
those that are indicative of conditions that arose after the balance sheet date (non-adjusting events after the balance sheet date).

(a)(ii)

A contingent liability is:

(a)
a possible obligation that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the enterprise; or

(b)
a present obligation that arises from past events but is not recognized because:

(i)
it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation; or

(ii)
the amount of the obligation cannot be measured with sufficient reliability.

(a)(iii)

“A contingent asset” is a possible asset that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the enterprise.

(b)(i)

The objective of a balance sheet is to show the state of affairs of a business as at a particular date. Many items included in a balance sheet will require estimates to be made as to the amount at which they should be stated. Events occurring after the balance sheet date may provide evidence as to the true value of a certain asset as at that date, or the full amount of a certain liability. It is appropriate, when preparing the balance sheet, that such evidence should be taken into account in deciding what amount to attribute to such assets and liabilities. HKAS 10 provides for this to happen by requiring figures in the accounts to be altered when “adjusting events” arise. Adjusting events are defined as “events after the balance sheet date which provide evidence of conditions that existed at the balance sheet date”. Adjustment to the accounts will also be appropriate when it becomes clear after the balance sheet date that the basis on which the accounts were prepared is unsound. Thus HKAS 10 requires adjustment to the accounts in the event that the going concern basis turns out to be inapplicable. In this way HKAS 10 seeks to ensure that financial statements reflect as fully as possible the conditions which exist at the year end.

(b)(ii)

Adjusting events should be consistent with the time interval concept: that financial statements are prepared for a period of time, and events occur in either one period or another. Any attempt to record transactions and events occurring after the year end in a particular year’s accounts would remove the status of the balance sheet as a statement of assets and liabilities at that moment in time.

However, events can occur after the year end which may give rise to significant changes to a company’s financial position after the year end. It would be inappropriate to reflect such events in the balance sheet and profit and loss account, and yet to omit them completely from the financial statements would prevent a reader from properly understanding the company’s financial position. When these events occur before the accounts are authorised for issue, then the opportunity exists to disclose this new information by way of a note to the accounts. This is known as a non-adjusting event. The note should state the nature of the event and give an estimate of the financial effect (or a statement that an estimate is not practicable). HKAS 10 thus seeks to prevent the release of misleading accounts by requiring disclosure in a note of material non-adjusting events after the balance sheet date.

(c)(i)

At this stage, there is not enough information to indicate whether the company has any contingent liability. As no other information is available the degree of probability of the loss is indeterminable, although common sense would suggest that it might arise. The directors would probably prefer not to disclose the possibility of legal action, but they would not be justified in treating the possibility of loss as remote. It should be disclosed along with a statement that it is impracticable to estimate the financial effect – the US company being sued for US$30,000 does not limit the company’s potential loss to that amount, it all depends on what the US company claims, if anything, as a result of the case.

(c)(ii)

The event has arisen after the balance sheet date. It is not an adjusting event as it concerns conditions (the machinery was purchased in February 2001) which did not exist at the balance sheet date. The nature and financial effects of the purchase should be disclosed as non-disclosure will affect the ability of the users of the financial statements to make proper evaluations and decisions.

(c)(iii)

The event has arisen after the balance sheet date. It is not an adjusting event as it concerns conditions (damage of stock in February 2001) which did not exist at the balance sheet date. The nature and financial effects of the site accident should be disclosed if non-disclosure will affect the ability of the users of the financial statements to make proper evaluations and decisions.

5.
(a)

HKAS 10 defines events after the balance sheet date as events, both favourable and unfavourable, that  occur between the balance sheet date and the date when the financial statements are authorized for issue.

For the purpose of determining how these events should be dealt with so as to provide a better understanding on the financial position of an enterprise, it is important to make a clear distinction between adjusting and non-adjusting events is:

(i)
Adjusting events – events after the balance sheet date that provide evidence of conditions that existed at the balance sheet date.

(ii)
Non-adjusting events – events after the balance sheet date that are indicative of conditions that arose after the balance sheet date.

An example of an adjusting event is the sale of inventories after the balance sheet date at a price below cost, as this may give evidence of the net realizable value of the enterprise’s inventories at the balance sheet date. The event after the balance sheet date allows the entity to establish the value of inventories at the balance sheet date. Under HKAS 10, an enterprise needs to adjust the amount recognised in its financial statements to reflect the adjusting event. Accordingly, the enterprise should adjust its inventory value at the year end in accordance with the rule of lower of cost or net realizable value, as specified in HKAS 2 “Inventories”, to reflect the fair value of the inventory at the year end.

An example of a non-adjusting event is inventory losses due to a fire that happened after the balance sheet date. Such an event does not provide evidence on the value of inventory at the year end; however, it will affect the financial position of the following period as the value of inventory destroyed by the fire will need to be written off in the year when the event took place. To ensure that the financial information presented is sufficient for the users of financial statements to make economic decision, HKAS 10 requires an enterprise to disclose the nature of the event and an estimate of its financial effects, or a statement that such an estimate cannot be made for such a non-adjusting event.

(b)

Brian Lee’s Company

Balance sheet (revised) as at 31 December 2003

	Assets
	$000
	$000

	Non-current assets
	
	

	Property, plant and equipment (Note (1))
	
	420

	Current assets
	
	

	Inventories
	730
	

	Trade receivables
	1,342
	

	Investments
	178
	

	Cash and cash equivalents
	57
	

	
	2,307
	

	Current liabilities
	
	

	Trade payables
	(970)
	

	Net current assets
	
	1,337

	Net assets
	
	1,757

	
	
	

	Capital and reserve
	
	

	Issued capital
	
	1,600

	Accumulated profits
	
	157

	
	
	1,757


Explanations:

(i)
Under HKAS 2, the principle of using the lower of cost or net realizable value requires a write-down of the value of the goods by 20% ($250,000 x 20% = $50,000). The accounting entries are:

	
	Dr ($)
	Cr ($)

	Profit and loss
	50,000
	

	Inventories
	
	50,000


(ii)
Since the explosion happened after the balance sheet date, it does not affect the ability of Frank Limited to settle its outstanding balance with Brian Lee at the year end. Therefore it is not an adjusting event and no adjustment is required. However, Frank Limited’s ability to settle the balance with Brian Lee after the year end is affected by this event; therefore, this event should be classified as non-adjusting event. Since the amount of $130,000 is material in relation to the net asset value, only disclosure is required.

(iii)
Since the investment is grouped under current assets, according to HKAS 39 it should be included in the balance sheet using fair value; that is, the year-end market value in this case. Therefore, the following adjustment should be made:

	
	Dr ($)
	Cr ($)

	Profit and loss
	8,000
	

	Investments
	
	8,000


(iv)
Since the customer had not settled the outstanding balance for more than a year, their ability to repay the amount of $35,000 was probably in doubt before the year end. Debtor’s balances that are irrecoverable are an example of impairment of assets under HKAS 36. The outstanding balance of $35,000 should be written off to reflect the financial position at the balance sheet date.

	
	Dr ($)
	Cr ($)

	Profit and loss (bad debt)
	35,000
	

	Trade receivable
	
	35,000


(v)
The loss of inventories due to a fire does not affect the company’s inventory position as this event does not provide additional evidence on the value of inventories at the year-end date. However, the financial position in the next accounting year-end will be affected. Therefore, this event should be classified as a non-adjusting event and no adjustment is required for the current accounting year.

6.
(a)

HKAS 37 requires that the measurement of a provision be the best estimate of the expenditure required to settle the present obligation at the balance sheet date and that the amount of a provision should be the present value of the expenditure expected to be required to settle the obligation if the effect of the time value of money is material.

One of the difficulties in measuring the amount of the provision is that judgement of the enterprise’s management is required. The estimates of outcome and financial effect are determined by this judgement based on:

(i)
the enterprise’s experience in similar transactions;

(ii)
opinions or reports from independent experts;

(iii)
additional evidence provided by events after the balance sheet date.

Moreover, it is difficult to determine the appropriate discount rate for the purpose of counting the effect of the time value of money. However, HKAS 37 does not provide clear guidelines on this, except that the discount rate adopted:

(i)
should be a pre-tax rate;

(ii)
should reflect current market assessments of the time value of money and the risks specific to the liability; and

(iii)
should not reflect risks for which future cash flow estimates have been adjusted.

(b)(i)

Under HKAS 37, a provision should be recognised when the following conditions are met:

(i)
an enterprise has a present obligation as a result of a past event – the present obligation to settle the loan defaulted by the subsidiary is caused by the guarantees provided by Ramy Limited for its subsidiary.

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation – on 30 April 2004, it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation, i.e. the loan defaulted by the subsidiary.

(iii)
a reliable estimate can be made of the amount of the obligation – the amount of the borrowings outstanding, at the time the subsidiary is declared bankrupt, is probably is the best estimate of the obligation to settle the default on the loan.

Since the above conditions are met, the outstanding amount of the borrowings guaranteed by Ramy Limited should be recognised on 31 March 2004. The accounting entries should be:

	
	Dr ($)
	Cr ($)

	Profit and loss
	1,300,000
	

	Provision for loan guarantee
	
	1,300,000


(b)(ii)

HKAS 37 states that contingent assets usually arise from unplanned or other unexpected events that give rise to the possibility of an inflow of economic benefits to the enterprise. Based on the legal advisor’s advice, a favourable settlement is probable, but not virtually certain. Therefore, the past event – that is, the breach of contract of its business partner – does not give rise to a contingent asset because it does not provide evidence that an inflow of economic benefits to the enterprise is virtually certain. In accordance with HKAS 37, a contingent asset is disclosed where an inflow of economic benefits is probable. Therefore, Ramy should not recognize any contingent asset but should disclose the nature of the contingent asset at the balance sheet date and an estimate of its financial effect, where practical.

(b)(iii)

Under HKAS 37, a provision should be recognised when the following conditions are met:

(i)
an enterprise has a present obligation as a result of a past event – the decision to close the division has been communicated to the customers and employees; this is an obligating event which creates a valid expectation that the division will be closed.

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation – therefore, the resource outflow relating to the costs of carrying out the division’s closure is probable.

(iii)
a reliable estimate can be made of the amount of the obligation – since the redundancy notices were sent to the division’s staff and assuming the redundancy plan has already been fixed, the management of Ramy Limited should be able to estimate the amount of redundancy costs reliably.

Since the above conditions have been met, Ramy is required to make a provision for the redundancy costs of $3 million at the balance sheet date:

	
	Dr ($)
	Cr ($)

	Profit and loss
	3,000,000
	

	Provision for redundancy
	
	3,000,000


7.
(a)
In accordance with HKAS 37, provisions are liabilities of uncertain timing and amount. Provisions are recognized as liabilities because:

· They are present obligations (legal or constructive) as a result of the past event;

· It is probable that an outflow of resources will be required to settle the obligations; and

· A reliable estimate can be made of the amount of the obligation.

However, contingent liabilities are not recognized as liabilities under HKAS 37 because they cannot meet either one of the recognition criteria for a provision.

(b)

HKAS 37 defines a constructive obligation as an obligation that derives from an enterprise’s actions where the enterprise has indicated to the other parties that it will accept certain responsibilities and, therefore, a valid expectation on those other parties is created. There should be valid expectation in employees, the lessor of the factory, customers and suppliers that a formal restructuring would be carried out because an announcement of the detailed plan of closure of certain line of business has been made and management showed clear intention to carry out this plan. As a result, the provision to be made in relation to the parties concerned includes the following:

(i)
Employees – compensation for redundant employees ($880,000) and claims for unfair dismissal ($150,000) should be provided but these should not include the costs of relocating and retaining staff.

(ii)
Lessor of the factory – provision should be made for the penalty for the unexpired lease terms on factory premises ($450,000) because this is a present obligation under the current contract.

(iii)
Customers and suppliers – compensation or penalties or possible claims for breach of purchase or sales contracts ($420,000) should be provided as the company expects such claims from customers and suppliers.

The disposal of any assets, including inventories and plant, arising from the factory closure in October 2004 is a non-adjusting post balance sheet event if the sales contracts were made after the year end. This is because the loss on disposal of assets for $560,000 will not affect the financial position as of 30 September 2004. However, the loss amounts to 12.8% ($560,000/$4,375,000) of the profit after tax. The amount of loss on disposal is material and may require disclosure in the notes to the financial statements under HKAS 10.

According to HKAS 10, provision should be made for the loss of $560,000 on sale of plant and inventories after the year end only if a binding sale agreement was entered into before the year end. This is because the binding sale agreement indicates the price that the buyer is willing to pay and this provides additional evidence of the value of the related assets at the year-end date. In particular, the following adjustments should be made at 30 September 2004 for this purpose:

(i)
HKAS 16 states that impairment loss should be made if the recoverable amount is lower than the written down value of the asset. In this case, the plant should be reviewed for impairment and written down to recoverable amount (i.e. the sales proceeds) in accordance with HKAS 16; and

(ii)
HKAS 2 requires that inventories should be valued at the lower of cost or net realizable value. As a result, inventories of the medical consumables should be written down to net realizable value (sales proceeds) in accordance with HKAS 2.

Under HKAS 37, the amount to be recognized as a provision should be the best estimate of the expenditure required to settle the present obligation at the balance sheet date. The estimates of outcome and financial effect are determined by the judgement of the management of the enterprise, supplemented by past experience and an expert’s report.

The over-estimation of the compensation for redundant employees by an amount of $150,000 should be reversed during 2005 once the actual liability is known. This is not an error that requires prior year adjustment in accordance with HKAS 8, and therefore, prior year adjustment is not required in this case.

In accordance with HKFRS 5, the provisions for the closure of factory and asset impairment should be grouped under discontinuing operations and disclosed separately either on the face of the income statement or in the notes to the accounts.

8.
(a)

HKAS 37 defines a provision as a liability of uncertain timing or amount.

In accordance with HKAS 37, provisions are recognized only when all of the following three recognition criteria are satisfied:

(i)
there is a present obligation (legal or constructive) as a result of a past event;

(ii)
it is probable that a transfer of economic benefits will be required to settle the obligation; and

(iii)
the obligation can be estimated reliably.

(b)

A contingent liability, as defined in HKAS 37, is:

(i)
a possible obligation that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the entity; or

(ii)
a present obligation that arises from past events but is not recognized because:

· It is not possible that an outflow of resources embodying economic benefits will be required to settle the obligation; or

· The amount of the obligation cannot be estimated reliably.

(c)(i)

Fitness Limited’s 10-day full refund policy is considered as a constructive obligation under HKAS 37 since the company probably has notices in its shops informing customers about this. As a result, such a notice to customers would create an expectation that the company will honour its policy. The company will expect to give customers refunds of $113,750 ($1,137,500 x 10%); however, the estimated amount of provision should be made from the number of claims from past experience. Thus, the amount of provision required by Fitness Limited for the year to 30 September 2006 is calculated as follows:

	Effect of the 10-day full refund policy (see the discussion above):
	$

	Goods from Goddie Limited
	$113,750 x 70% x 20% x 40/140
	4,550

	Goods from other suppliers
	$113,750 x 70% x 80% x 25/125
	12,740

	The sale of the remaining 30% at half the normal selling price will create a loss and requires creation of provision:
	

	Goods from Goddies Limited
	113,750 x 30% x 20% x 1/2
	3,412.5

	Goods from other suppliers
	113,750 x 30% x 80% x 1/2
	13,650

	
	
	34,352.5


(c)(ii)

Goods are likely to be returned because they are faulty are effectively sales returns. Except for Goddie Limited, all suppliers will reimburse the cost of the faulty goods. As a result, Fitness Limited will not have made the profit originally recorded on their sale. For those goods supplied by Goddie Limited, Fitness Limited must suffer the whole loss as the negotiated discount is a compensation for faulty goods returned. The amount of provision for faulty goods required by Fitness Limited for the year to 30 September 2006 is calculated as follows:

	
	
	$

	Goods from Goddie Limited
	$104,000 x 20%
	20,800

	Goods from other suppliers
	$104,000 x 80% x (1 – 100/125)
	16,640

	
	
	37,440


9.
(a)
HKAS 37 defines a contingent liability as:

(i)
a possible obligation that arises from past events and whose existence is confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the entity; [2 marks] or

(ii)
a present obligation that arises from past events but is not recognized because it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation or the amount of the obligation cannot be measured with sufficient reliability. [2 marks]

HKAS 37 defines a contingent asset as:

(i)
a possible asset that arises from past events; and

(ii)
whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain events not wholly within the control of the entity. [2 marks]



(Maximum: 5 marks)

(b)

A provision for the future costs for landscaping should be made by Sea Limited [1 mark] because the following conditions have been met by 31 December 2007:

(i)
Sea Limited has a present legal obligation to have the landscaping as a result of a past event of acquiring the coal mine and its related plant; [1.5 mark]

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation because Environmental Legislation has been enforced; [1.5 mark]; and
(iii)
the amount of obligation is estimated by an expert and therefore, is reliable. [1.5 mark]

The amount recognized as a provision shall be the best estimate of the expenditure required to settle the present obligation at the balance sheet date. [1 mark] In accordance with HKAS 37, the following issues should be considered in determining the “best estimate”:

(i)
the risks and uncertainties that inevitably surround the events and circumstances; for example, effects of the mining activities on the land; [1.5 mark]

(ii)
the amount of provision shall be discounted to the present value where the effect of time value of money is material; [1.5 mark] and

(iii)
future events, for example, the changes in technology to landscape the land, that may affect the amount required to settle an obligation should be reflected in the provision. [1.5 mark]

In this case, the amount of $150,000 (already discounted to the present value), together with the unwinding of the discount of $12,000 should be the best estimate of the amount of provision of $162,000. [1.5 mark]

In accordance with HKAS 16, cost of an item of property, plant and equipment includes: its purchase price and any costs directly attributable to make it capable of operating in the manner intended by management; as well as the initial estimate of the costs of dismantling and removing the item and restoring the site as an obligation to the entity. [2 marks] Since Environmental Legislation was enforced, the estimated future costs of landscaping for $150,000 (discounted to the present value) falls within the definition of cost of property, plant and equipment and should be included in the carrying amount of property, plant and equipment. [2 marks]
The accounting entries to record this transaction are:

	
	
	$
	$
	Marks

	Dr.
	Property, plant and equipment

($162,000 / (1 + 8%))
	150,000
	
	2

	
	Finance costs accrued
	12,000
	
	1

	Cr.
	Provision for landscaping
	
	162,000
	1




(Maximum: 20 marks)
10.
Material Event (1)
(a)
Despite that there is no legal obligation to clean up the pollution, the company has publicized its green production policy. There is an expectation from third parties that the company will honour its green commitment to clean up the area, and as a result, there is a constructive obligation. Further, the amount to be incurred for the clean up has been estimated to be $20m by a consultant. Therefore a provision should be made. [3 marks]
(b)
Dr
Pollution costs
$20m


Cr

Provision for pollution clean up

$20m






[2 marks]

(c)
N/A

Material Event (2)

(a)
On the date when the details of the restructuring and redundancy package was communicated to the staff concerned, a constructive obligation was created as the company has to honour all the compensation details as made known. Since the event occurred before the eyar end date, a provision for the compensation payment has to be made. [3 marks]
(b)
Dr
Redundancy expenses
$5.5m


Cr

Provision for redundancy

$5.5m







[2 marks]

(c)
N/A

Material Event (3)

(a)
The burglary occurred after the year end. This is a material event occurring after the balance sheet date but before the accounts are authorized for issue, it is a non-adjusting event after the balance sheet date.
In view of the materiality of the loss, the company has to make a note to the accounts to disclose the event in its financial report.






[2 marks]
(b)
N/A

(c)
Event after the balance sheet date
After the year end date, a burglary took place resulting in the loss of inventory with an approximate value of $26.5m. The incident has been reported to the police. Around 50% of the loss can be covered by insurance. [2 marks]
Material Event (4)

(a)
Emerald Link Ltd was being sued for infringement of copyright after year end. This is a material event occurring after the balance sheet date but before the accounts are authorized for issue, it is a non-adjusting event after the balance sheet date.
In view of the materiality of the potential financial loss, the company has to make a note to the accounts to disclose the event in its financial report.





[3 marks]
(b)
N/A

(c)
Event after the balance sheet date
Subsequent to the year end date, the company was sued by an overseas jewellery design company for infringement of copyright and has claimed compensation of $40m. According to legal opinion, the company does not stand a good chance of defending the case successfully. [2 marks]
Material Event (5)
(a)
This is an adjusting event after the balance sheet date as the information from the lawyer gives further evidence regarding the recoverability of the outstanding debt at the balance sheet date.
As the customer is in liquidation, there is a doubt of the recoverability of the debt owed to the company and full provision has to be made against the amount of $10m outstanding at year end date.
The other amount of $7.5m which represented the shipment after the year end date relates to the transaction of the following financial year and would have no effect to the current year’s financial statement. However, in view of the materiality of the amount, the company should make a note to accounts to disclose the incident.






[2 marks]
(b)
Dr
Bad debt expenses
$10m

Cr

Provision for bad debt

$10m







[2 marks]

(c)
Event after the balance sheet date
Subsequent to the year end date, the company was informed by an overseas lawyer that one of its major customers in the USA has commenced liquidation procedures. The company has made a shipment of $7.5m to this customer after the year end date. There is doubt as to the recoverability of this receivable. Further, full provision has been made against the debt owned by this customer at the year end date, for an amount of $10m.





[2 marks]
11.
(a)

A provision should only be recognised when all the following conditions are met:

(1)
an enterprise has a present obligation (legal or constructive) as a result of a past event;

(2)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation; and

(3)
a reliable estimate can be made of the amount of the obligation.

A present obligation should be disclosed rather than provided when it arises from past events but is not recognized because:

(1)
it is not probable but is more likely than remote that an outflow of resources embodying economic benefits will be required to settle the obligation; or

(2)
the amount of the obligation cannot be measured with sufficient reliability.

(b)(i)

Year ended 31 December 2001:

In the case of bank guarantee, the obligation event is the granting of the guarantee to the bank, which gives rise to a legal obligation. Since BW’s financial condition was sound at 31 December 2001, an outflow of benefits was not probable. Therefore no provision should be recognised. The guarantee should be disclosed as a contingent liability since the probability of outflow in respect of a guarantee is normally not regarded as remote.

In the food poisoning case, on the basis of the evidence available when the financial statements were approved, there was no obligation as a result of past events. No provision is recognised. The matter should be disclosed as a contingent liability unless the probability of any outflow is regarded as remote.

For both cases, the company should disclose the following information in its financial statements:

(1)
a brief description of the nature of the contingent liabilities;

(2)
an estimate of their financial effect;

(3)
an indication of the uncertainties relating to the amount or timing of any outflow; and

(4)
the possibility of any reimbursement.

(b)(ii)

Year ended 31 December 2002:

In the bank guarantee case, at 31 December 2002 it is probable that on outflow of resources embodying economic benefits will be required to settle the obligation, as BW’s creditors have filed for protection. A provision should be recognised of the best estimate of the obligation (including both compensation and legal fees).

In the food poisoning case, on the basis of the evidence available, there is a present obligation. The obligating event is the sales of the products alleged to have caused the food poisoning. Since it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation, a provision should be recognised for the best estimate of the amount needed to settle the obligation.

12.
(a)(i)

For an adjustment to be required to the financial statements, the event must be material, and either provide additional evidence of conditions existing at the balance sheet date or cast doubt on the application of the going concern concept to the whole or a material part of the enterprise.

(a)(ii)

A contingent liability is:

(a)
a possible obligation that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the enterprise; or

(b)
a present obligation that arises from past events but is not recognized because:

(i)
it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation; or

(ii)
the amount of the obligation cannot be measured with sufficient reliability.

(a)(iii)

The following table summarises the accounting treatment required by HKAS 37 for material contingencies:

	Degree of probability
	Contingent loss
	Contingent gain

	Virtually certain
	Recognise in financial statements
	Recognise in financial statements

	Probable
	Recognise in financial statements
	Disclose by note in financial statements

	Possible
	Disclose by note in financial statements
	No disclosure

	Remote
	No disclosure
	No disclosure


(a)(iv)

The date the financial statements are authorized for issue.

(b)(i)

A provision of $30,000 is required for the legal costs which will be incurred in any case, because this is an action relating to a condition which existed at the balance sheet date. HKAS 10 requires this.

As the outcome of the case is 70%, this will be categorized as “possible” rather than “probable”, the damages and costs to be incurred if the case is lost would be required by HKAS 10 to be disclosed by note.

Journal entry:

	
	Dr. ($)
	Cr. ($)

	Income statement
	30,000
	

	Provision for legal costs
	
	30,000

	Provision for legal costs in relation to action brought by customer


Disclosure note:

A customer has brought an action against the company claiming damages for alleged supply of faulty components. Your company will vigorously defend the action and expects to succeed. If the customer’s action is successful, damages and costs could amount to $180,000. A provision of $30,000 has been made to cover costs which will be incurred whether the action is successful or not.

(b)(ii)

This is an event requiring adjustment and the allowance for doubtful debts should be reduced by $84,000 in the financial statements.

	
	Dr. ($)
	Cr. ($)

	Allowance for doubtful debts
	84,000
	

	Income statement
	
	84,000

	Reduction in allowance for doubtful debts following payment after the balance sheet date.


13.
(a)

(i)
Post balance sheet events

These are divided into two stages – adjusting and non-adjusting. The financial statements must be adjusted for material adjusting events. Material non-adjusting events are usually disclosed by note only.

(ii)
Contingent losses

The accounting treatment of contingent losses depends on their degree of probability.

If it is probable that a future event will confirm a loss which can be estimated with reasonable accuracy at the date on which the financial statements are approved, material losses should be accrued.

If it is not probable, disclosure by note of the loss is required.

If there is only a remote possibility of the loss arising, no disclosure is required.

(b)

The correct accounting treatments of the six items according to HKAS 10 and HKAS 37 are:

(1)
This is an adjusting event after the balance sheet date under HKAS 10. The inventory should be reduced by $40,000 in the income statement and balance sheet.

(2)
This is another adjusting event after the balance sheet date under HKAS 10. The allowance for doubtful debts should be reduced by $65,000 and the income statement credited.

(3)
The $50,000 claim is a contingency which requires disclosure by note only as it is not probable that a liability will arise. Provision should be made in the March 2000 accounts for the $10,000 legal fees. (HKAS 37)

(4)
Provision should be made for the $100,000 probable liability under the guarantee (HKAS 37).

(5)
The proposed merger is a non-adjusting event after the balance sheet date and should be disclosed by note in the financial statements for the year ended 31 March 2000 (HKAS 10).

(6)
This is an adjusting event after the balance sheet date under HKAS 10 and the inventory figure should be increased by $30,000.

(c)

Effect on profit

	
	($)
	($)

	Profit as shown in draft accounts
	
	350,000

	Add: (2) reduction in doubtful debt allowance
	65,000
	

	(6) inventory omitted
	30,000
	

	
	
	95,000

	
	
	445,000

	Less: (1) reduction in value of inventory
	40,000
	

	(3) provision for legal expenses
	10,000
	

	(4) provision for guarantee
	100,000
	

	
	
	150,000

	Revised profit
	
	295,000


14.
(a)
A contingent liabilities is defined in HKAS 37 as:

(i)
a possible obligation that arise from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the enterprise; or

(ii)
a present obligation that arises from past events but is not recognized because it is not probable that an outflow of resources embodying economic benefits will be required to settle the obligation; or the amount of the obligation cannot be measured with sufficient reliability.

A contingent assets is defined in HKAS 37 as a possible asset that arises from past events and whose existence will be confirmed only by the occurrence or non-occurrence of one or more uncertain future events not wholly within the control of the enterprise.

(b)

Where a contingent liability is disclosed, the enterprise is to provide a brief description of the nature of the contingent liability. In addition, the following information is required:

(i)
an estimate of its financial effect;

(ii)
an indication of the uncertainties relating to the amount or timing of any outflow; and

(iii)
the possibility of any reimbursement.

Where any of the above items is not disclosed because it is not practicable to do so, that fact should be stated.

Where a contingent asset is disclosed, the following information is required:

(i)
a brief description of the nature of the contingent asset; and

(ii)
an estimate of its financial effect – where this is not disclosed because it is not practicable to do so, that fact should be stated.

(c)

(i)
This would appear to be a contingent asset. It is not certain what price the painting will fetch at auction nor is any gain realized, and so the $10m should not be recognized in the financial statements. However the amount is probably material, and if it is a reputable auction house, the inflow of economic benefits is probable. The details of the contingent asset should therefore be disclosed in a note to the financial statements.

(ii)
The company should make a provision in the financial statements for the amount that it will probably have to pay. It would appear that the company will definitely have to pay $2m but may have a counter claim for $1m. If the opinion of the legal advisers is that the company has a valid case against the sub-contractors, then it should recognize $1m reimbursement as a separate asset. If the legal advisors are of the opinion that the sub-contractors have a good defence, then the $1m claim should not be reccognised.

(iii)
The company should accrue $500,000 for the amount due to the factor on debts not paid within the 90 day period. There is a contingent liability of $1.5m on the factored debts not yet paid but within the 90 day period and this full amount should be disclosed in note. Although it is remote that all of the debtors will default, it is probable that some will and therefore the maximum contingent liability should be disclosed.

(iv)
The company should take legal advice, but on the facts as stated it would appear that there is no sustainable legal case against the company and therefore the claim is so remote that it is not necessary to disclose this information in a note. The snooker player has only threatened to sue, and until a formal letter is received stating the precise claim it seems unlikely that a liability will arise.

15.
(a)

By developing accounting standards with the IASC, a standard setter is able to draw on their expertise and thus develop a better standard.

However, the major advantage is international harmonization.

By developing new standards in conjunction with the IASC, the process of international harmonization is assisted. This process, if ever achieved, would yield tremendous benefits as financial statements would become more comparative and thus become more comparable and more useful to users of accounts.

(b)

A “big path provision” is a general provision raised in respect of future expenditure, e.g. for reorganization expenses, losses and repairs. “Big bath provisions” are used as a creative accounting technique to boost future profits and to achieve profit smoothing. Often, the provision turns out either to be excessive or not to be needed so that it is written back through the profit and loss account in the future.

HKAS 37 proposes that a provision should only be recognized when, and only when, an entity has a legal or constructive obligation to transfer economic benefits as a result of past events. An obligation exists where there is no alternative to making a transfer to economic benefits.

Thus, provisions for re-organisations should only be recognized when, and only when, the entity is demonstrably committed to the re-organisation. Mere board intention is not enough and it would be necessary for the announcement to have been made such that it cannot be realistically withdrawn from.

Accordingly, “big path provisions”, do not appear to be liabilities, and in future, will not be recognized.

(c)

Build plc has a contingent liability in respect of the damages being claimed. This represents a probable loss and should be provided for.

Build plc has a contingent asset in respect of it’s claim against Digit Ltd. This represents a probable asset but, is only disclosed in the notes to the accounts.

It is not possible to net the two items off as they should be considered individually.

(d)

The proposed accounting treatment does not adequately recognize the existence of the liability to relandscape the land, i.e. at the end of year 2, a provision will be reported on the balance sheet of $2 million, but this does not mean anything, i.e. it cannot be argued that the entity has an obligation to transfer economic benefits as a result of past transactions or events which can be measured at $2 million.

Therefore, before the issuance of HKAS 37, the accounting treatment can be as follows:

	
	P&L a/c charge (operating costs)
	Balance sheet Provision

	
	$
	$

	Year 1
	1,000,000
	1,000,000

	Year 2
	1,000,000
	2,000,000

	Year 3
	1,000,000
	3,000,000

	Year 4
	1,000,000
	4,000,000


However, under HKAS 37, the company has a constructive obligation to relandscape the land, it has a liability which it should recognized, albeit measured at a present value. Thus, if we assume an appropriate discount rate of 5%, the initial liability is measured at $3,290,810 [
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]. The double entry is to create a fixed asset which is then depreciated over the period of the contract. Having discounting the liability, interest has to be raised to unwind the discounted liability.

Thus, under HKAS 37, the accounting treatment would be as follows:

	
	P&L charge (operating costs),
	P&L charge (finance charge)
	Balance sheet Fixed asset at NBV
	Balance sheet provision / liability

	
	$
	$
	$
	$

	Year 1
	822,702 *
	164,541 **
	2,468,108
	3,455,351

	Year 2
	822,702
	172,767
	1,645,406
	3,628,118

	Year 3
	822,702
	181,406
	822,703
	3,809524

	Year 4
	822,702
	190,476
	-
	4,000,000


* Operating cost = 3,290,810 divided by 4

** Finance charge

5% x 3,290,810 = 164,541

5% x 3,455,351 = 172,767

5% x 3,628,118 = 181,406

5% x 3,809,524 = 190,476

It should be noted that over the four year period the total charged to the profit and loss a/c under both methods is the same. The major difference is in the presentation of the balance sheet. The rationale behind the change is to have a balance sheet which has a better representation of the entities liabilities, i.e. under the new standards the entity’s obligation to relandscape the land is better reflected.

The new approach can be criticized however, because of the unwinding of the discounted liability. This means that a finance cost is charged to the profit and loss account. This “interest” is purely notional, after all no interest is actually paid and the cash flow in year 4 will report the cost of relandscping as an operating expense. Operating profit is therefore being overstated.

There is also the issue of what happens when interest rates change, because this will result in a re-measuring of the liability with a resultant gain or loss being reported. Such gains and losses are difficult for users to comprehend.

16.
(a)

If it is probable that the claim will not succeed then no provision is required. However, since the legal advisers are negotiating with the former director it does appear as if some payment will eventually be made. The basis of calculation of the $250,000 is not clear. If this is what the legal advisers regard as a probable settlement it should remain. It is also necessary to ensure that the company has made adequate provision for legal costs. The notes to the financial statements should indicate the nature of the contingent liability, an indication of the uncertainties relating to the amount or timing of any inflow, and an estimate of its financial effect.

(b)

The amount of the guarantee is a contingent liability which should be disclosed in a note to the parent’s balance sheet.

(c)

Assuming the bills have been discounted with recourse, the contingent liability of $4.5 million should be referred to by way of note to the financial statements.

(d)

The company should consult its legal advisers. If Mecare has acted as agent (rather than principal) on behalf of the continental manufacturer, then the customer’s action should be against the manufacturer and not Mecare. Assuming Mecare acted as principal, it is necessary to assess separately the two sides of the problem – the claim by the customer against Mecare, and the counter-claim by Mecare against the continental manufacturer.

HKAS 37 provides that where some or all of the expenditure required to settle a provision is expected to be reimbursed by another party, the reimbursement should be recognized only when it is virtually certain that it will be received if the enterprise settles the obligation. The reimbursement should be recognized as a separate asset. The amount recognized for the reimbursement should not exceed the amount of the provision. In the profit and loss account, the expense relating to a provision may be presented net of the amount recognized for a reimbursement.

(e)

Inventories of equipment should be stated at the lower of cost and net realizable value. The net realizable value is very much dependent on the success or otherwise of the field trials. As at the date the financial statements are authorized for issue it is necessary to assess the likelihood of inventories being sold at less than cost. If this is so, the necessary provision should be made.

(f)

Details of the commitments, since it represents a contingent liability, should be disclosed in the notes. It would also be necessary to consider whether the goodwill of Attention Ltd is worth at lease $5 million, otherwise it is possible that an impairment loss should be disclosed.

17.
(a) (i)

The HKICPA is anxious to ensure that only those amounts that meet its definition of liabilities are reported in the balance sheet. The HKICPA proposes to define provisions as a ‘liability of uncertain timing or amount’. The HKICPA is keen to prevent companies from providing for future operating losses as in the HKICPA’s opinion they should be accounted for in the future.

It is often quite difficult to differentiate between provisions and liabilities and reclassification from one category to another is not uncommon. The importance of the distinction is that provisions are often subject to disclosure requirements which do not apply to other creditors. For example legislation often requires disclosure of the movement on a provision in the year but not creditors. However even such disclosure does not solve the difficulty with provisioning as quite often the largest disclosed balance is ‘other provisions’ with no information being disclosed in the financial statements.

The transparency of disclosure is possibly the most important issue in accounting for provisions. Once a provision has been established it is possible to bypass the profit and loss account with expenditure that is charged to it. Some of the provisions that have been set up in this manner have been very large. Planned expenditures for several years may be aggregated into one large provision that is reported as an exceptional item. The user of financial statements may then add the provision back to income in the year and fail to take account of charges made to that provision in future years. (This is often referred to as ‘big bath accounting’.)

There has been concern that the basis on which provisions have been recognised has not been clear. In some cases the recognition of provisions has been based on management’s intentions rather than on the basis of a present obligation. Thus management have been able to exercise discretion over the timing of recognition of provisions with the following effects:

(i)
inconsistency between the accounting for provisions between different companies

(ii)
the smoothing of earnings by management

(iii)
the impairment of the balance sheet as a useful statement. It is important that provisions are recognised and measured on a consistent basis and that sufficient information is disclosed in the notes to the financial statements to enable users to understand their nature, timing and amount.

(a) (ii)

HKAS 37 utilises the ‘Framework’ document and concludes that provisions are an element of the liabilities and not a separate element of the financial statements. Provisions should be recognised when and only when:

(i)
an enterprise has a present legal or constructive obligation benefits as a result of past events

(ii)
it is probable that an outflow of resources embodying economic benefits will be required to settle the obligation

(iii)
a reasonable estimate of the amount required to settle the obligation can be made.

An obligation exists when the entity has no realistic alternative to making a transfer of economic benefits. This is the case onlywhere the obligation can be enforced by law or in the case of constructive obligation (see below). No provision is recognized for costs that need to be incurred to operate in the future. The only liabilities recognised are those that exist at the balance sheet date. The obligations must have arisen from past events and must exist independently from the company’s future actions. If the company can avoid the expenditure by its future actions then no provision is recognised. These rules are designed to allow a provision to escape recognition only in rare cases. In these rare cases there is an obligation if having taken into account all available evidence, it is more likely than not that a present obligation exists at the balance sheet date.

It is not necessary to know the identity of the party to whom the obligation is owed in order for an obligation to exist but in principle there must be another party. The obligation may be to the public at large. The mere intention or necessity to incur expenditure is not enough to create an obligation. Where there are a number of similar obligations, the whole class of obligations must be considered when determining whether economic benefits will be transferred.

There is a need to provide for legal obligations although there is the important issue of timing and the identification of the past event which triggers the recognition. However HKAS 37 also deals with the concept of ‘constructive obligation’. For example where a retail store gives refunds to dissatisfied customers even though there is no legal obligation to do so in order that it will preserve its reputation. Therefore, an entity may be committed to certain expenditure because any alternative would be too onerous to contemplate. The determination of a constructive obligation is extremely difficult and is a somewhat subjective concept.

An event may give rise to an obligation at a later date because of changes in the law or because of a constructive obligation. Provision will be made when the law is virtually certain to be enacted or the entity publicly accepts responsibility for the event in a way which creates a constructive obligation.

The rules for recognition are expanded to deal explicitly with certain specific cases:

(i)
no provision should be recognised for future operating losses

(ii)
a constructive obligation for restructuring only exists and thus a provision recognised when the recognition criteria laid out in HKAS 37 are satisfied

(iii)
if an enterprise has a contract which is onerous, the present obligation should be recognised and measured as a provision. HKAS 37 essentially looks at the problem of provisions from a balance sheet perspective choosing to concentrate on liability recognition rather than the recognition of an expense.

(b) (i)

HKAS 37 has a significant impact on decommissioning activities. It appears that the company is building up the required provision over the useful life of the radioactive facility, often called the ‘units of production method’. However HKAS 37 requires the provision to be the best estimate of the expenditure required to settle the obligation at the balance sheet date. The provision should be capitalised as an asset if the expenditure provides access to future economic benefits. If this is not the case, then the provision should be charged immediately to the profit and loss account. HKAS 37 does not prescribe the accounting treatment for the resulting debit but amendments have been made to HKAS 16 ‘Property, Plant and Equipment’ to ensure a smooth interaction between the two standards. The asset so created will be written off over the life of the facility subject to the usual impairment test in HKAS 36 ‘Impairment of Assets’. Thus the decommissioning costs of $1,231m (undiscounted) not yet provided for will have to be brought onto the balance sheet at its discounted amount and a corresponding asset created.

The current practice adopted by the company as regards the discounting of the provision is inconsistent. The provision is based on future cash flows but the discount rate is based upon current market rates of interest. HKAS 37 suggests that the discount rate should be a pre-tax rate that reflects current market assessments of the time value of money and the risks specific to the liability. The discount rate should not reflect risks for which future cash flow estimates have been adjusted. Therefore, the provision should be based on current prices discounted by the current market rate.

The company currently makes a reserve adjustment for changes in price levels. However this adjustment would have two elements and should be charged to the profit and loss account. The first element would be the current adjustment on the total provision for changes in the discount rate and the second element would be an interest element representing the unwinding of the discount. Thus the income statement would be charged with the amortisation of the asset created by the setting up of the provision and also with an adjustment for the change in price levels and the unwinding of the discount. HKAS 37 requires separate disclosure of this latter amount and suggest it be classified as an interest expense.

It appears that any subsequent amendment of the provision should be recognised in the profit and loss account. However, the company appears to be treating the adjustment of $27m as a movement on reserves.

(b) (ii)

One of the quite explicit rules of HKAS 37 is that no provision should be made for future operating losses. However, if the company has entered into an onerous contract then a provision will be required. An onerous contract is one entered into with another party under which the unavoidable costs of fulfilling the contract exceed the revenues to be received and where the entity would have to pay compensation to the other party if the contract was not fulfilled. Thus it appears that the contract should be loss making by nature. Thus in this case the provision of $135m would remain in the financial statements and would affect the fair value exercise and the computation of goodwill.

Provisions for environmental liabilities should be recognised when the entity becomes obliged (legally or constructively) to rectify environmental damage or perform restorative work on the environment. A provision should only be made where the company has no real option but to carry out remedial work. The mere existence of environmental contamination caused by the company’s activities does not in itself give rise to an obligation. Thus in this case there is no current obligation. However it can be argued that there is a ‘constructive obligation’ to provide for the remedial work because the conduct of the company has created a valid expectation that the company will clean up the environment. Thus there is no easy solution to the problem as it will be determined by the subjective assessment of the directors and auditors as to whether there is a ‘constructive obligation’. It is a difficult concept and one which will result in different interpretations. In this case, a provision may be required.
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